
 
 

Equipment Rails, Floor Standing CUBE-iT 
 

 
 

IIS-739905-001, 09/12/18, Rev. 1, CPI/REL 
800-834-4969 (USA & Canada) • www.chatsworth.com • techsupport@chatsworth.com  
For international phone numbers, see our website or contact CPI Tech Support. 
 
This drawing contains proprietary and confidential information and is protected by U.S. and international law. Unauthorized reproduction, disclosure or use of the drawing or 
the information therein is expressly forbidden except as agreed to in writing by Chatsworth Products, Inc. 

Page 1 of 1 

Installation Instructions 

Equipment Rail 

M6 Nut 

M6 Carriage Bolt 

Frame Flange 

Toothed Washer 

Figure 1 

 

WARNING: Failure to properly install equipment rails can 
result in improper rail grounding. Improper use of this product 
may lead to serious injury. Read and understand all 
instructions for proper installation and use of this product.   

 
 
Intended Use 
Install this rack only in a restricted service environment, such as a data center. 
Use indoors only, in environmentally controlled areas; do not use outdoors, in 
harsh environments or in air-handling spaces. Use this rack for computer 
equipment, including servers and peripherals. Allow only qualified service 
personnel to use this rack. 
 
Tools Required 
 
10mm Socket wrench 
 
 Included Hardware 
 

 
Assembly Sequence 
Position the rails in the frame with RMU #1 marking at lowest position, desired 
rail setback. Minimum rail setback is 1.77 IN [45MM] if optional finger manager is 
installed. 
 
Use M6 carriage bolt, toothed washer and serrated flange nut as shown in Figure 
1 to attach equipment rail to frame. Locate toothed washer adjacent to the head 
of the M6 carriage bolt.  Torque nuts to 88IN-LB [9.9] N-M 
 
 

 
 
 

 
 

 
 

 

 
4 

 
M6X16 
Carriage Bolt  

 
4 

 
Toothed 
Washer 

 

 
4 

 
M6 Serrated 
Flange Nut 
  

 
25 

 
M6 Nut &Screw  
(for mounting 
equipment) 

1.77” [45mm] Setback 

Forward Equipment Rail  


